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SBI PO PRELIMINARY EXAM PATTERN  

SUBJECT MARKS TIME Pervious years 
good ATTEMPT

English 30 20 20+

Maths 35 20 21+

Reasoning 35 20 22+

100 60 Minutes 63+

Note : -There is no sectional cutoff in SBI PO exam. Candidates 
are only required to secure the overall aggregate cutoff marks.
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Category Cut – Off Marks

GEN 58.5

SC 50

ST 43.75

OBC 56

EWS 56.75
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(A)2520 (B)2460 (C)2370 (D)2340 (E)2490

What approximate value should come in the place of question mark(?)in the following 
questions.

1.   244.03 − 654.02 + ? ÷ 2.01 = 835.01

E04613
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(A) 1760 (B)1805 (C)1780 (D)1689 (E)1750

What approximate value should come in the place of question mark(?)in the following 
questions.

2.    224.99 ÷ 3.01 + 25.01% of ? = 520.01

E04613
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(A) 44 (B)41 (C)52 (D)38 (E)50

What approximate value should come in the place of question mark(?)in the following 
questions.

3.     = ?

E04613
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(A)529 (B)514 (C)503 (D)497 (E)490

What approximate value should come in the place of question mark(?)in the following 
questions.

4.   = ?

E04613
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(A)128 (B)141 (C)144 (D)136 (E)131

What approximate value should come in the place of question mark(?)in the following 
questions.

5.     = ?

E04613
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(A)48 (B)57 (C)61 (D)52 (E)45

What approximate value should come in the place of question mark(?)in the following 
questions.

6.    = ?

E04613
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Direction (7 to 12 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.7 :- I. x2 = 256                                       II. y² + 18 y + 17= 0

Q.8 :- I. 2x2 + 15x + 28 =0                       II.  2y2 + 19y+ 45= 0

Q.9 :- I. 6x² +13x +6  = 0        II. 15y²+ 13y +2= 0

Q.10 :- I. x² − 15x + 56=0                           II.  y2 −17 y + 72  = 0

Q.11  :- I. x2 −14 x + 13 =0 II.  y² − 12y + 11 =0

Q.12  :- I. 4x2 +13 x + 9 =0 II.  4y² +20y + 25 =0

E04613
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What should come at place of the question mark (?) in the following number series ?

13 . 24 , 12 , 12 , 18,  36, ?

(A)36 (B)54 (C)72 (D)90 (E)108

E04613
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What should come at place of the question mark (?) in the following number series ?

14 . 158  , ? , 147  , 197 , 132 , 214

(A)184 (B)195 (C)174 (D)190 (E)210

E04613
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What should come at place of the question mark (?) in the following number series ?

15 . 4.8 , 6.7 , 10.5 , 18.1 , ? , 63.7

(A)33.8 (B)33.3 (C)31.7 (D)35.6 (E)36.2

E04613
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What should come at place of the question mark (?) in the following number series ?

16 . 3 , 16 ,  65 , 196 , ? , 394

(A) 197 (B)394 (C)393 (D)197 (E)288

E04613
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Directions (Q. 17-22):- Study the given information carefully and answer the questions that follow. 

The given below graph shows the percentage distribution of the number of cakes baked by 5 shops (A, B, 

C, D and E) on a given day. Total number of cakes baked by the 5 shops were 400. The given below table 

shows the percentage of cakes ordered from the five shops out of the baked cakes. 

दी गई जानकारी का ध्यानपूर्वक अध्ययन करें और नीचे ददए गए प्रश्न ों के उत्तर दें। नीचे ददया गया ग्राफ एक ददन

में 5 दुकानन ों (A, B, C, D और E) द्वारा बेक दकए गए केक की सोंख्या का प्रदिशि दर्िरण दशाविा है। 5 दुकानन ों द्वारा

बेक दकए गए केक की कुल सोंख्या 400 थी। नीचे दी गई िादलका बेक दकए गए केक में से पाोंच दुकानन ों से ऑर्वर

दकए गए केक का प्रदिशि दशाविी है।

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%
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(A)20% (B)50% (C)33.33% (D)62.5% (E) None of these

Q.17 :-The number of cakes unsold from shop E is what percentage more than the number 
of cakes unsold from shop D? 
दुकान E से न दबके केककी सोंख्या दुकान D से न दबके केककी सोंख्या से दकिने प्रदिशि अदिक
है?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)126° (B)120° (C)116° (D)108° (E)136°

Q.18 :- If the total number of cakes baked by all shops is distributed in a degree pie chart, 
what would have been the central angle for shop C? 
यदद सभी दुकानन ों द्वारा बेक दकए गए केककी कुल सोंख्या कन एक दर्ग्री पाई चार्व में दर्िररि
दकया जािा है, िन दुकान C के दलएकें द्रीय कनणक्या हनगा?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)12.23% (B)9.84% (C)16.67% (D)7.83% (E) None of these

Q.19 :- The cost of baking each cake for shop D was Rs. 200. If 25% of the cakes sold were sold for Rs. 175 
and the remaining were sold for Rs. 250. If no revenue is generated from unsold cakes, what will be the total  
profit percentage for shop D? 
दुकानD के दलए प्रते्यक केककन पकाने की लागि 200 रुपये थी। यदद बेचे गए केकका 25% 175 रुपये में बेचा गया
और शेष 250 रुपये में बेचा गया। यदद दबना दबके केक से कनई राजस्वउत्पन्न नही ों हनिा है, िन कुल लाभ प्रदिशिक्या
हनगा दुकान D के दलए?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)5:3 (B)8:5 (C)2:5 (D)7:3 (E) None of these

Q.20 :- What is the ratio of the number of cakes baked by shop C and the number of cakes 
sold by shop B? 
दुकान C द्वारा बेक दकए गए केककी सोंख्याऔर दुकान B द्वारा बेचे गए केककी सोंख्या का
अनुपािक्या है?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)7800 (B)8400 (C)9450 (D)7300 (E) 8100

Q.21 :- The number of cakes that were unsold from shops A, B and C, 25% were given to the beggars. Of the 
remaining, 25% were eaten by the staff of the shops while the rest were sold the next day at 10% loss. If, each 
cake cost  Rs. 250 to bake for all the shops, what was the total amount earned from these cakes? दुकानन ों ए, बी
औरसी से दजिने केक नही ों दबके, उन्हें 25% दभखाररयन ों कन ददया गया। शेष में से 25% कन दुकानन ों के कमवचाररयन ों ने
खा दलया जबदक शेष कन अगले ददन 10% हादन पर बेच ददया गया। यदद, सभी दुकानन ों के दलए प्रते्यक केककन बेक
करने के दलए 250 रुपये का खचव आिा है, िन इन केक से अदजवि कुल रादश दकिनी थी?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)1 (B)3 (C)2 (D)4 (E) CND

Q.22 :- If the next day, number of cakes ordered increased by 20% for shop B, while the 
number of cakes baked by shop B remained the same, then the number of cakes unsold by 
Shop B is more than how many shops? यदद अगले ददन, दुकान B के दलएऑर्वर दकए गए केककी सोंख्या
में 20% की रृ्द्धि हनिी है, जबदक दुकान B द्वारा बेक दकए गए केककी सोंख्या समान रहिी है, िन दुकान B द्वारा दबना
दबके केक की सोंख्या दकिनी दुकानन ों से अदिक है?

10%

20%

35%

20%

15%
A

B

C

D

E

Shop Percentage of cakes 
ordered

A 60%

B 75%

C 80%

D 95%

E 90%

Note: Number of cakes unsold = Number of cakes baked –

Number of cakes ordered All the ordered cakes are to be 

considered as cakes sold. 
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(A)30% (B)20% (C)40% (D)50% (E) 80%

Q.23 :-A completes 45% of the work in 11 1/4 days. B completes 30% of the work in 3 days. 
If A, B and C together can complete the entire work in 6 1/4 days, then C is how much less 
efficient than A? 
A 45% कायव कन 11 1/4 ददनन ों में पूरा करिा है। B 30% कायव कन 3 ददनन ों में पूरा करिा है। यदद A, 
B और C दमलकर पूरे कायव कन 6 1/4 ददनन ों में पूरा कर सकिे हैं, िन C, A से दकिना कम कुशल है?
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(A)Rs. 1905 (B)Rs.3810 (C)Rs. 762 (D) Rs.2286 (E) Rs.5715

Q.24 :- A sum of Rs. X is invested in a scheme offering simple interest for 2 years at the interest 
rate of 20% per annum. A sum of Rs. 2X is invested in the same scheme for 3 years. If the 
difference between the interest received after respective periods is Rs. 1524, what is the value of  
3X?
X रुपये की रादश 20% प्रदि र्षव की ब्याज दर पर 2 साल के दलए सािारणब्याजकी पेशकशकरने
र्ाली यनजना में दनरे्शकी जािी है। उसी यनजना में 3 साल के दलए 2X रुपये की रादश का दनरे्श
दकया जािा है। यदद सोंबोंदिि अर्दियन ों के बाद प्राप्तब्याज के बीच का अोंिर 1524 रुपये है, िन 3X का
मूल्यक्या है?

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)18 (B)30 (C)36 (D)45 (E) CND

Q.25 :-The average of the first and second number is equal to the third number. The 
average of the first and second number is 9 less than the average of second and third 
number. What is the difference between first and second number? 
पहलीऔर दूसरी सोंख्या काऔसि िीसरी सोंख्या के बराबर है। पहलीऔर दूसरी सोंख्या का
औसि दूसरीऔर िीसरी सोंख्या के औसि से 9 कम है। पहलीऔर दूसरी सोंख्या में क्या अोंिर
है?
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(A)19 (B)44 (C)82 (D)28 (E)CND

Q.26 :- When digits of a two-digit number are interchanged, then it becomes 54 more than 
the original number. The product of the two digits is 16. What is the original number?
जबदन अोंकन ोंकी सोंख्या के अोंकन ोंकनआपसमें बदल ददया जािा है, िन र्ह मूलसोंख्या से 54 
अदिकहन जािी है। दन अोंकन ोंका गुणनफल 16 है। मूल सोंख्याक्या है?
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(A)24 (B)29 (C)30 (D)34 (E) 19

Q.27 :- Six years hence, the age of A would be the  5/6 of the age of B. 4 years ago, the ages of 
A and B were in the ratio of 10 : 13. What is the present age of C, who is 5 years elder to A? 
छह र्षव बाद, A कीआयु B कीआयु का 5/6 हनगी। 4 र्षव पहले, A और B कीआयु का अनुपाि
10:13 था। C की र्िवमानआयुक्या है, जन 5 र्षव का है A से र्षव बडा?
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(A)24 (B)30 (C)48 (D)56 (E) 40

Q.28:- In a mixture, ratio of milk and water is 6 : 1. 21 liters of mixture is withdrawn, and 
77 liters of water is added to the mixture. If the total quantity of resultant mixture is twice of 
the quantity of original mixture, what was the amount of milk in original mixture?
एक दमश्रण में दूिऔर पानी का अनुपाि 6 : 1 है। 21 लीर्र दमश्रण दनकाल दलया जािा है और
दमश्रण में 77 लीर्र पानी दमला ददया जािा है। यदद पररणामी दमश्रणकी कुल मात्रा मूल दमश्रणकी
मात्रा से दनगुनी है, िन मूल दमश्रण में दूि की मात्रा दकिनी थी?

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)450% (B)400% (C)350% (D)300% (E) 250%

Q.29 :- A and B started a business together in a partnership. B left the business after 8
months. At the end of year profit is Rs. 4000, out of which profit of B is Rs. 3000, the 
investment of B is how much percentage more than the investment of A?
A और B ने साझेदारी में एक साथ एकव्यर्साय शुरू दकया B ने 8 महीने बाद व्यर्सायछनड
ददया र्षव के अोंि में लाभ 4000 रुपये है, दजसमें से B का लाभ 3000 रुपये है, B का दनरे्श A के
दनरे्श से दकिना प्रदिशि अदिक है ?
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Directions (Q. 30-35):- Study the given information carefully and answer the 

questions that follow. 

The table given below shows the capacity of 5 buses(A, B, C, D, E) and the percentage of seats that were 

filled out of the total seating capacity of the buses. 

Some of the data is missing and is denoted as N/A 

दी गई जानकारी का ध्यानपूर्वक अध्ययन करें और उत्तर दें प्रश्न जो अनुसरण करते हैं। नीचे दी गई तालिका 5 बसोों (ए, 

बी, सी, डी, ई) की क्षमता और बसोों की कुि बैठने की क्षमता से भरी गई सीटोों का प्रलतशत दशावती है। कुछ डेटा गायब है

और इसे N/A के रूप में दशावया गया है

Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 

Bus Total seating capacity Percentage of seats 
filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%
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(A) 16 (B)8 (C)24 (D)22 (E) None of these

Q.30 :- What is the average of the vacant  seats of buses B, C, D and E?

बसन ोंB, C, D और E कीखाली सीर्न ों काऔसिक्या है?

Bus Total seating 
capacity

Percentage of 
seats filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%

Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 
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(A)75.6° (B)104.4° (C) 72° (D)54° (E) 86.4°

Q.31 :- If the number of vacant seats was distributed in a degree pie-chart, what would have 
been the central angle for bus A? 
यदद एक दर्ग्री पाई-चार्व में ररक्तसीर्न ों की सोंख्या दर्िररि की जािी, िन बस A के दलएकें द्रीय
कनणक्या हनिा?

Bus Total seating 
capacity

Percentage of 
seats filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%

Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 
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(A) 3:1 (B)4:1 (C)4:3 (D)7:3 (E) 2:1

Q.32:- What is the ratio of the number of filled seats of bus B and the vacant seats of bus A?

बस B की भरी हुई सीर्न ोंऔर बस A कीखाली सीर्न ों की सोंख्या का अनुपािक्या है?

Bus Total seating 
capacity

Percentage of 
seats filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%

Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 
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(A)0 (B)3 (C)2 (D)1 (E) CND

Q.33:- If 20% of the seats in bus E were occupied by people aging above 60 , 40% were occupied by females 
and 50% were occupied by males again below 60, what was the number of seats occupied by females aging 
above 60?
यदद बस E में 20% सीर्न ों पर 60 र्षव से अदिकआयु के लनगन ों का कब्जा था, 40% मदहलाओों द्वाराऔर 50% पर दफर
से 60 र्षव से कमआयु के पुरुषन ोंका कब्जा था, िन 60 से अदिक उम्रकी मदहलाओों द्वारा कब्जा की गई सीर्न ोंकी
सोंख्याक्या थी?

Bus Total seating 
capacity

Percentage of 
seats filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%

Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 
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(A)8 (B)16 (C)24 (D)32 (E) None of these

Q.34 :- 20% of the passengers on bus D got down at yarivali bus stop and 2 passengers boarded the bus from 
the same bus stop. The conductor started charging from yarivali bus stop. The number of adults and children 
on the bus were in the ratio 2 : 1. If the total collection of bus fare was Rs. 800, what was the bus fare for each 
child? Consider, there were no other stoppages till the final stop, the bus ticket was free till yarivali bus stop 
and children’s ticket price was half of that of adult. 
बसD के 20% यात्री यारीर्ली बसस्टॉप पर उिरे और 2 यात्री उसी बसस्टॉप से बस में चढे। कों र्क्टर ने यारीर्ली
बसस्टॉप से चाजव करना शुरूकर ददया। बस में र्यस्नोंऔर बच्नों की सोंख्या 2:1 के अनुपाि में थी। यदद बसका
कुल दकराया 800 रुपये था, िन प्रते्यक बचे् के दलए बसका दकरायाक्या था? गौर कीदजए, अोंदिम पडार् िककनई
अन्यठहरार् नही ोंथा, यारीर्ली बसस्टॉप िक बसका दर्कर् मुफ्तथाऔर बच्नोंकी दर्कर्की कीमि र्यस्नोंकी
िुलना में आिी थी।

Bus Total seating 
capacity

Percentage of seats 
filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%Note: 

A) The total number of vacant seats in all the 5 buses together were 40 

B) The number of seats in buses D and E together were 65 
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(A)15 (B)18 (C)25 (D)30 (E) None of these

Q.35 :- What was the difference between the number of vacant seats in Bus C and the 
number of filled seats in Bus D?
बस C में खाली सीर्न ों की सोंख्याऔर बसD में भरी हुई सीर्न ों की सोंख्या के बीच का अोंिर दकिना
था?

Bus Total seating 
capacity

Percentage of 
seats filed

A 20 60%

B 30 80%

C 15 60%

D N/A 70%

E N/A 66.66%
Note: 

A) The total number of vacant seats in all the 5 buses 

together were 40 

B) The number of seats in buses D and E together were 65 
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